Val	Пο	aı	(41

Print

Help

Tender Inviting Authority:- Regional Manager (Chennai)/ SM(Civil)

Name of Work: Setting up of stalls for AAHAR-25, India International Leather Fair-2026 and 2027 and other events at Chennai (2 Years) Sub-Head: Construction of stalls with pre-fab octonorm system, providing Carpet, Furniture items, Conservancy etc. (on hire basis for fair period).

Contract No:

Bidder Name :

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NOTE:-

- 1. The rates should be quoted exclusive of GST as applicable
- 2. The agency should file ECR against ESI & EPF for the individual workers engaged in ITPO & submit the same with bank certified copy, bill, wage sheet & attendance sheet etc. before payment.
- 3. Contractural Labour Act Registration if applicable.

NUMB	TEXT #	NUMBE	TEXT #	NUMBE	NUMBER#	TEXT #
ER#		R#		R		
Sl.	Item Description	Quantity	Units	Estimate	TOTAL	TOTAL AMOUNT
No.				d Rate	AMOUNT	In Words
1	2	4	5	6	54	55
	Construction of booth with spotless superior quality pre-fab aluminum O.C. system bright finished powder coated at site of work					
	with Polychem panels and fascia of approved colour and shade i/c fascia writing with poly vinyl superior quality self sticking					
	cut out letter up to 4" height, Providing office cabin where ever required i/c attending addition/alteration and maintenance during					
	the fair period and dismantling the same after close of the fair ,cleaning the site i/c vinyl digitally printed fascia on the under lay of					
	polychem/sun board/laminated panel of reqd. size & as per Drawing attached etc. complete and as per the direction of					INR Thirty Lakh Forty Nine
	Engineer-in-charge. (on hire basis for duration of fair)					Thousand Five Hundred
1.01	a) Having logo & extension i/c numbering as per drawing enclosed. Drawing-A	15000.00	Sqm	203.30	3049500.00	Only
	b) Extra for using Maxima System for front vertical and Facia members instead of O/c system as per Drawing-B					
	Note:- Qty. payable as per item no. 1					INR Eight Lakh Sixty Six
						Thousand Four Hundred
1.02		15000.00	Sqm	57.76	866400.00	Only
	Providing Registration counter made with superior quality O.C. system including lockable door, fascia write up, colored vinyl on					
	panels, glass panes, and counter of size (length as per front opening of booth x 0.50 m width x 0.75 m height) i/c scratch less					
	laminated top with projected shelf in front of counter and queue manager etc as per drawing and as per the direction of Engineer-					
	in-Charge. (The item includes, Octonorm system, lockable door, counters, front shelf and fascia write up colored vinyl on					INR One Lakh Sixty Nine
	panels, glass panes, queue manager etc complete all. (On hire bases).					Thousand Eight Hundred &
2.01	a) As per drawing R-1 but without roof	300.00	Sqm	566.01	169803.00	Three Only
	b) As per drawing R-1 with roof i/c covering roof with G. I. sheet/Profile sheets/Canopy structure with water proof Fabric/					
	Waterproof cloth.					INR One Lakh Eighty Two
						Thousand Nine Hundred &
2.02		300.00	Sqm	609.92	182976.00	Seventy Six Only
	Providing & Laying new needle punch non- wooven carpet of genuine fiber minimum overall weight 1000gm/Sqm(+/-5%)					
	having minimum 3.90 mm thickness preferable containing 375 gm polyester fiber or equivalent fiber (+/-5%) and the carpet					
	should not loss the thickness more than 25% after 1000 impact & of required shade in passages including pasting with solution/double					INR Forty Eight Lakh
	side tape at ends wherever required including covering with polythene sheet till the opening of the fair (on hire basis)					Seventy Nine Thousand Two
3.00		60000.00	Sqm	81.32	4879200.00	Hundred Only

	Hiring of table/counters in round/rectangular shape as required with laminated top of size 1.00 m x 0.50 m x 0.75 m rectangular or					
	1.00 m, dia in pretty good condition and as approved by Architect/Engineer-In-Charge. (on hire basis) a) Without lock					
4.01		1700.00	Each	127.06	216002.00	INR Two Lakh Sixteen Thousand &Two Only
	b) Lockable	1700.00	Laci	127.00	210002.00	•
						INR One Thousand Five Hundred & Twenty Five
4.02		10.00	Each	152.48	1525.00	l
	Hiring of good quality chair in attractive colours with nickel polished/powder coated frame & cushion seat & back as per the					
	direction of Engineer In charge. A) Stationary type. (on hire basis)					INR Six Lakh Eighty One
5.00	Providing built up podium of size 1 Mx1M with pre-fab system with height as under (on hire basis)	6700.00	Each	101.65	681055.00	Thousand &Fifty Five Only
	a) 400 mm height					
						INR Three Hundred &
6.01	b) above 400 mm height	15.00	Each	25.41	381.00	Eighty One Only
	above 400 mm neight					
		4.5.00			204.00	INR Three Hundred &
6.02	Hiring of plastic waste paper basket of medium size for full duration of the fair and as per the direction of Engineer-in-Charge. (on hire	15.00	Each	25.41	381.00	Eighty One Only
	basis)					INR Seventeen Thousand
7.00		2500.00	ъ.	5.00	15500.00	Seven Hundred & Eighty
7.00	Providing & fixing computerized cut PVC/vinyl self-sticking letters of 3" to 4" height on fascia as per the direction of Engineer-in-	3500.00	Each	5.08	17780.00	Only
I	Charge (on hire basis)					
0.00		25.00	E1.	5.00	127.00	INR One Hundred & Twenty
8.00	Providing & fixing shelves of size 1.00 m x 0.30 m / hanging rod one meter long with sufficient "S" hooks connected to O.C.	23.00	Each	5.08	127.00	Seven Only
	System with brackets to take sufficient load with:-					INR Five Lakh Thirty Three
9.00	a) 5 mm thick glass panes or one meter hanging rod with sufficient 'S' hooks. (on hire basis).	3500.00	Each	152.48	522690.00	Thousand Six Hundred & Eighty Only
	Hire charges for providing and fixing Octonorm pre-fab aluminum system ply panels of required size in pretty good	3300.00	Each	132.46	333080.00	Eighty Only
	condition and as per the direction of Engineer-in-charge. (on hire basis)					INR One Lakh Fourteen
10.01	(a) Full ply Panels	750.00	Each	152.48	114260.00	Thousand Three Hundred & Sixty Only
	(b) Half ply panels / fabric panels (fabric to be supplied by ITPO)	/30.00	Each	132.48	114300.00	SIALY OHLY
						INR Five Thousand Five
10.02		110.00	Each	50.83	5591.00	Hundred & Ninety One Only
	(c) 4mm thick Half Glass Panels					INR One Thousand Five
						Hundred & Twenty Five
10.03		5.00	Each	304.95	1525.00	
	Hire charges for providing and fixing the octonorm system door in pretty good condition with locking arrangement etc complete and the direction of Engineer In charge.(on hire basis)					
	complete and the direction of Engineer in charge (on thre basis)	4.00	г 1	762.40	2050.00	INR Three Thousand &Fifty
11.00		4.00	Each	762.40	3050.00	Only

	DE wooden some mode up of 10 mm thick commercial board of currell width a 60m 8 2 00mm length to cover the electrical	1		I		
	P/F wooden ramp made up of 19 mm thick commercial board of overall width 0.60m & 3.00mtr length to cover the electrical cables crossing through passages during fairs etc. complete & as per the direction of Engineer-in-charge.(on hire basis)					
	caries crossing in ough passages during fairs etc. complete & as per the direction of Engineer-in-charge. (on line basis)					INR Sixty Thousand Nine
12.00		400.00	metre	152.48	60992.00	Hundred & Ninety Two Only
	Providing Pagoda structure made up of Aluminum Structure covered with water proofing and fire retardant sheet like Shri					
	Ram Fabric & should be strong to sustain the high speed wind pressure, centre height 10 feet to 12 feet with span of from 5 or 6					
	m. All three covered with SRF sheet & placing of queue manager wherever required as per the direction of Enggin-charge					
	including wooden flooring as per site requirement. (on hire basis for duration of fair)					INR One Lakh Ninety
						Thousand Five Hundred &
13.00		500.00	Sqm	381.19	190595.00	Ninety Five Only
	Information/form filling counter made with superior quality O.C. system, with fascia at the height of 2.40m, and the size of the					
	counter will be 1.00m x 1.00 m x 1.00 m with scratch less laminated top as per the direction of Engineer-in-Charge. (The item					
	includes octonorm system wall, fascia and counter etc complete).(on hire basis) (a) 1 m long					DID THE STATE OF
14.00		40.00	г 1	762.40	20406.00	INR Thirty Thousand Four
14.00	Arrangement for cleaning & upkeep of exhibition stall & passage i/c food court, outside adjoining exhibition area, collecting garbage	40.00	Each	762.40	30490.00	Hundred & Ninety Six Only
	in garbage bins and disposing the garbage as per local municipal norms for fair period i/c sprinkling water etc. where ever required as					
	per direction of engineer-in-charge. The payment shall be made to Actual floor area of Exhibition Halls.					INR Nine Lakh Twenty
	k					Three Thousand Three
15.00		464000.00	sqm	1.99	923360.00	Hundred & Sixty Only
	Hire charges for providing and installation of arm type spot light fitting (powder coated) with 100 watt comptalux lamp (pin/screw					
	type) suitable for mounting on Octonorm system with rail and plug type accessories complete with connection, interconnection sub					INR Six Lakh Sixty
	main circuit control wiring & switch gear etc i/c their maintenance during fair period etc. as required	6500.00	г 1	101.65	660725.00	Thousand Seven Hundred &
16.00	Hire charges for installation testing & commissioning of 5/15 A 6 pin switch socket universal combination gang box type	6500.00	Each	101.65	660725.00	Twenty Five Only
	complete with earthing the third pin with suitable size of copper wire to be provided in various stands/stall complete with connection					
	interconnection sub main & circuit wiring etc controlled with suitable capacity switchgear etc. i/c their maintenance during the					
	fair period.					INR Seventy Six Thousand
17.00		1000.00	Each	76.24	76240.00	Two Hundred & Forty Only
	Proving aluminum frame hanger structure covered with water proof and fire flame retardant SRF(Shri Ram Fabric or Equivalent)					
	sheet & applied weight should be strong enough to sustain the high speed wind pressure having centre height about 8 m and span					
	from 10 to 30 m as per requirement, front & back covered with water proof and fire retardant SRF(Shri Ram Fabric or Equivalent) sheet duly supported with aluminum diagonal bracings complete with aluminum glazed entry & exit doors, general					
	lighting as per the direction of Engineer-in-charge. (all on hire basis for duration of fair) & including the cost of cloth false					DID E. T. II E. AF
	ceiling.					INR Four Lakh Forty Nine
	a) Aluminum Structure.	1500.00	Sam	299.88	440820.00	Thousand Eight Hundred & Twenty Only
	Providing connecting passage made up with O.C system wall i/c covering with M.S truss resting over the O.C system with ply panel.	1300.00	Sqm	477.00	447020.00	
	The roof and the sides of the truss will be covered with good quality waterproof cloth or equivalent & side covering with polychem					INR Fifty Eight Thousand
	panels. (on hire basis)					Seven Hundred & Twenty
19.00		235.00	Sqm	249.91	58729.00	Nine Only
	Constructions of inauguration stage/other stages of required size about 2'- 6"-4-6" height using casurina bullies/steel frame @ 2'-					DID C . F TI
	o" c/c vertically, horizontally and also diagonally with 20 mm thick commercial boards on top covered with new synthetic needle punch non-woven carpet of good quality and of required shade, shall be decorated nicely including steps on one sides and ramp on					INR Seventy Four Thousand Nine Hundred & Eighty Five
	other side. (Note:- For payment only area of stage will be measured) (On hire basis)	1500.00	Sqft	49.99	74985.00	
	Supplying VIP cushion chairs (Seat & back) of good pretty condition. (on hire basis, for fair period) & as per the direction of Engineer-	1500.00	Sqit	47.77	/4903.00	Omy
	in-charge.					INR One Thousand One
	a) With arms					Hundred & Twenty Five
21.01		15.00	Each	74.97	1125.00	1

	b) Without arms					
21.02		20.00	Б.1	20.00	1100.00	INR One Thousand One
21.02	Supplying mike podium with scratch less lamination/polishing on all over the surface, and with ITPO Logo of good condition as	30.00	Each	39.98	1199.00	Hundred & Ninety Nine Only
1	approved by the Architect/Engineer-In-Charge (On hire basis).					INR Five Thousand Nine
	approved by an example of an example (or and basis).					Hundred & Ninety Eight
22.00		3.00	Each	1999.20	5998.00	, , ,
	Supplying centre table of standard size and design and of good condition as approved by architect/Engineer-In-Charge (On hire basis)					
						DID AU THE LAU
23.00		40.00	Each	249.91	0006.00	INR Nine Thousand Nine Hundred & Ninety Six Only
	Supplying sofa sets (three Seater, two Seater, and Single Seater) in pretty good condition for inauguration etc. up to three days at	40.00	Eacii	247.71	9990.00	Trundred & Willety Six Only
	CTC site. Complete including loading, unloading, cartage etc. and as per the direction of Engineer-in-Charge. (on hire					
	basis		Each			INR Forty Nine Thousand
24.00		100.00	seat	499.80	49980.00	Nine Hundred & Eighty Only
	Chrysanthemum Double Cut Flower					DID E' WI 1 MI
						INR Five Thousand Three Hundred & Thirty Three
25.00		100.00	Each	53.33	5333.00	· · · · · · · · · · · · · · · · · · ·
23.00	Carnation Double	100.00	Lucii	55.55	2333.00	Olly
			Per			INR One Thousand Six
26.00		10.00	Bunch	160.00	1600.00	Hundred Only
	Asiatic Lilly					
			Per			INR Four Thousand Four
27.00		10.00		444.45	4445.00	Hundred & Forty Five Only
	Tuberose single Hybrid					·
20.00		10.00	Per	155.56	1556.00	INR One Thousand Five
28.00	Tata Rose	10.00	Bunch	155.56	1556.00	Hundred & Fifty Six Only
	Tata Nose					INR Two Thousand Two
			Per			Hundred & Twenty Two
29.00		10.00	Bunch	222.22	2222.00	Only
						DID E' E' IE'
20.00	Marigold(Yellow) Kolkatta Flower Lari	250.00	Each	22.22	5555 00	INR Five Thousand Five Hundred & Fifty Five Only
30.00	Mangord Lenow) Normana Prower Latt	230.00	Each	22.22	3333.00	Truncied & Fifty Five Only
						INR Five Thousand Five
31.00	Marigold(Orange) Kolkatta Flower Lari	250.00	Each	22.22	5555.00	Hundred & Fifty Five Only
32.00	Lari Marigold(Local) 3 ft long	150.00	Each	53.33	8000 00	INR Eight Thousand Only
, 52.00		150.00	Lucii	55.55	3000.00	

33.00 Green leaves Lari (3feet Long)	100.00	Each	31.11	3111.00	INR Three Thousand One Hundred & Eleven Only
34.00 Note: The rates should be quoted exclusive of GST as applicable					
Total in Figures				13354953.00	INR One Crore Thirty Three
					Lakh Fifty Four Thousand
					Nine Hundred & Fifty Three
					Only
Quoted Rate in Figures				0.00	INR Zero Only
		Select			
Quoted Rate in Words INR Zero Only					7
				•	